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QUESTION 1

Which component triggers the quarantine of an infected endpoint?
A. ALG

B. firewall

C. Policy Enforcer

D. switch

Correct Answer: C

QUESTION 2

What is the first step of business continuity planning?
A. know your network

B. test the plan

C. assess the risk

D. formulate the plan

Correct Answer: A

QUESTION 3

What are three components of an RFP? (Choose three.)

A. general information about the existing network environment

B. a list of devices to meet the design requirements

C. a list of design requirements

D. a list of available IP addresses within their current IP allocation
E. the types of solutions that the design must include

Correct Answer: ACE

QUESTION 4
In your network design, you must ensure that all user sessions passing through an SRX Series device

remain active if there is a device failure.



Which mechanism will accomplish this design requirement?
A. chassis clustering

B. MC-LAG

C. Virtual Chassis

D. VRRP

Correct Answer: A

QUESTION 5

You are asked to secure the routing engine of all Junos devices in your design. The design should not
affect transit traffic.

Which action will accomplish this task?

A. Use a firewall filter on a revenue port.

B. Use a firewall filter on the loopback interface.

C. Use a firewall filter on the fxp0 interfaces.

D. Use a firewall filter on the management interface.

Correct Answer: B

QUESTION 6

What are two guidelines when designing campus networks? (Choose two.)
A. The design must account for high control plane resources.

B. The design must allow for network resource availability.

C. The design must protect customer resources.

D. The design must allow for high bandwidth.

Correct Answer: BC

QUESTION 7
What are two phases of assessment when designing network security? (Choose two.)
A. to layout a logical design

B. to layout a physical design



C. to identify requirements
D. to perform data analysis

Correct Answer: AC

QUESTION 8

What is a feature provided by devices in the WAN aggregation site of a large enterprise WAN deployment?
A. Internet gateway

B. MACsec

C. power redundancy

D. DHCP

Correct Answer: A

QUESTION 9

Which Juniper automation tool enables administrators to write custom Python scripts that use the Junos XML API?
A. REST Explorer

B. JSNAPy

C.JET

D. PyEZ

Correct Answer: D

QUESTION 10

What are two requirements that every RFP response should include? (Choose two.)

A. a support plan that includes details about servicing the components once operational

B. a detailed competitor comparison document that indicates the proposed design is the least expensive option
C. a detailed forecast of exception handling after the design has been implemented and is operational

D. an implementation plan that includes a description of how the design will be implemented

Correct Answer: AD

QUESTION 11



Click the Exhibit button.
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Referring to the exhibit, you are designing a Layer 2 data center and you want to make sure that all the
links between the access tier and the aggregation tier are used.

What should you do to accomplish this task?

A. Use VRRP on Agg-1 and Agg-2.

B. Place Agg-1 and Agg-2 in a Virtual Chassis.

C. Use RSTP on all devices.

D. Use BGP load balancing on all devices.

Correct Answer: B

QUESTION 12

You are designing a WAN implementation to securely connect two remote sites to the corporate office. A
public Internet connection will be used for the connections.

Which statement is true in this situation?

A. The connection should be secured using IPsec.

B. The WAN edge devices must support MPLS.

C. The connections support Layer 2 traffic bridging.

D. The service provider can isolate traffic in a private MPLS instance.

Correct Answer: A
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